[bookmark: _GoBack]Question One…

1 – Basic description of what social conditions were like in Industrial Towns…

3- Specific use of the source. Source A shows the terrible housing conditions …


Question Two…

1-2 – Basic description of Upper class views in 1800.

3-4- Use of Explanation; They wanted power… Conditions shouldn’t improve…

5 - Use of Source in answer and explanation; They wanted power… Conditions shouldn’t improve…


Question Three…

1-3 – Explanation of Chartist demands, Protest (Peterloo)

4-5 –Judgement as to which source is most useful.

6-7 – Comparison of different sources. Peterloo wasn’t very successful, whereas Chartism achieved its aims… eventually.


Question Four…

1-2 – Simple description of Peterloo, Chartism…

3-5 – Explanation of why Peterloo happened; Who had the vote in 1800, how were elections held, what were the problems... How did Chartism occur.

6- 8- Explanation, use of all sources, comparison between Rich/Poor. Basic judgement made.

9-10 - - Explanation, use of all sources, comparison between sources opinion. Sound judgement, clarity that it was a combination of Protest and Legal reform.


06 – Level 4

10 – Level 5

17 – Level 6

23 – Level 7
